Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 8061	API No. 15 - 081-21489-00-00
Name: Oil Producers, Inc. of Kansas	County: Haskell Approximately 70' South of
Address: P.O. Box 8647	
City/State/Zip: Wichita, KS 67208	1250 feet from S / N (circle one) Line of Section
Purchaser: Oneok	2640 feet from E / W (circle one) Line of Section
Operator Contact Person: Diana Richecky RECEIVED	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 681-0231	(circle one) NE (SE) NW SW
Contractor: Name: Val Energy, Inc. FEB 2 3 2004	Lease Name: Leonard Well #: 1-21
License: 5822	Field Name: Hugoton
Wellsite Geologist: Jon D. Christensen	Producing Formation: Chase Group
Designate Type of Completion:	Elevation: Ground: 2873' Kelly Bushing: 2878'
New Well Re-Entry Workover	Total Depth: 2800' Plug Back Total Depth: 2789'
Oil SWD SIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 646 Feet
<u> </u>	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt. ALT I WHM 10-2-06
Well Name:	ALTIWHM 10-2-06
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 27500 ppm Fluid volume 250 bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporate
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
07/25/2003 07/28/2003 11/24/2003	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp. S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regular herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature: The J. Williams	KCC Office Use ONLY
Title: PRESIDENT Date: 2/19/2004	Letter of Confidentiality Attached
Subscribed and sworn to before me this 19 day of February	If Denied, Yes Date:
day ofday of	Wireline Log Received
XXX 200.4	Geologist Report Received
Notary Public: Jeans Jacketz	UIC Distribution
Date Commission Expires:	•
DIANA L. RICHECKY	

My Appt. Expires

X

Operator Name: Oi	Producers, Inc.	of Kansas	Lease	Lease Name: Leonard				Well #: <u>1-21</u>		
Sec21 Twp	30 s. R. 32	East 🗸 West	Count	_{y:} Has	kell	-				
tested, time tool ope temperature, fluid re	en and closed, flowing ecovery, and flow rate	and base of formation og and shut-in pressur es if gas to surface te final geological well s	es, whether sl st, along with t	hut-in pr	essure reached	static level, hydro	static pressur	es, bottom hole		
Drill Stem Tests Tak		☐ Yes 🗸 No)	Log Formation (Top), De			epth and Datum 🗸 Sar			
Samples Sent to Ge	eological Survey	☑ Yes No)	Nan	ie		Тор	Datum		
Cores Taken		Yes ✔ No)	Her	ngton		2633'	+243'		
Electric Log Run (Submit Copy)		✓ Yes No.)	Krid	er		2665'	+207'		
List All E. Logs Run:				Win	field		2710'	+166'		
	Compensated De	g, Sonic Log, Dual nsity/Neutron PE								
		CASI Report all strings	NG RECORD	✓ N		tion etc				
Purpose of String	Size Hole Drilled	Size Casing	Wei	ght	Setting	Type of	# Sacks	Type and Percent		
Surface	Drilled	Set (In O.D.) 8 5/8"	28	/ Ft.	Depth 646'	See note #1	see note	Additives see note #1		
Production		4 1/2"	10.5		2803'	see note #1	see note	see note #1		
Purpose:		ADDITIO	NAL CEMENTII	NG / SQ	JEEZE RECORI)				
Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and Pe	ercent Additives			
Protect Casing Plug Back TD Plug Off Zone	see note #1	see note #1	see not	te #1	see note #1					
Shots Per Foot		ON RECORD - Bridge Footage of Each Interval			Acid, Fra	cture, Shot, Cement	Squeeze Recor			
	see initial comp		Tonorated		(A)	mount and Kind of Mai	eriai Usea)	Depth		
	GCC IIIIIAI COMP	letion report		****						
				*****			The second section of the sect			
TUBING RECORD 2 3	Size 3/8"	Set At 2697.30'	Packer A	t	Liner Run	Yes ✔ No				
Date of First, Resumed	Production, SWD or En		1 ethod	Flowing	y ✔ Pumpii		Oti-	r (Fralsis)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate			Othe as-Oil Ratio	r (Explain) Gravity		
Disposition of Gas METHOD OF COMPLETION					Production Interval					
Vented ✓ Sold	Used on Lease		do 5 :	-						
	Osed on Lease umit ACO-18.)	Open Ho		, [ually Comp.	Commingled	A.	The state of the s		

Attachment 1-Leonard #1

ORIGINAL

Note #1:

Surface

Type of Cement

Type and Percent Additives

275 sacks 125 sacks A-con

60 40 poz

Production

375 sacks 100 sacks A-con & superflush

AA-2 gas blocker

RECEIVED

FEB 2 3 2004

Squeeze

KCC WICHITA

150 sacks

common



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

Invoice

Bill to:		639590			oice Date		der Date
	OIL PRODUCERS INC. OF KANSAS		3071	124 7	7/31/03		7/25/03
	P.O. Box 8647 Wichita, KS 67208		Cement		Service Desc	ription	
	FEB 23	2004					
	KCC MIC	CHITA		Leas Leona		We 1-2	
AF	E CustomerRep Trea	ter	Well	Type I	Purchase Orde	er Terr	ns ·
	T. Thomson D. Morris		New We	ell ell		Net :	30
<u>ID.</u>	<u>Description</u>		<u>UOM</u>	Quantity	Unit Price	e Price	<u>e</u>
D201	A-CON BLEND (COMMON)		SK	275	\$13.08	\$3,597 00	(T)
D203	60/40 POZ (COMMON)		SK	125	\$7.84	\$980.00	(T)
C310	CALCIUM CHLORIDE		LBS	1098	\$0.75	\$823.50	(T)
C194	CELLFLAKE		LB	92	\$2.00	\$184.00	(T)
R701	CEMENT HEAD RENTAL		EA	1	\$250.00	\$250 00	(T)
F303	BAFFLE PLATE ALUMINUM, 8 5/8"		EA	1	\$72.00	\$72.00	` '
F163	WOODEN CEMENT PLUG, 8 5/8"		EA	1	\$85.00	\$85.00	` /
F123	BASKET, 8 5/8"		EA	1	\$290.00	\$290.00	` ^
E107	CEMENT SERVICE CHARGE		SK	400	\$1.50	\$600.00	(-)
E100	HEAVY VEHICLE MILEAGE - 1 WAY		MI	25	\$3.25	\$81.25	
E104	PROPPANT / BULK DELIV SERVICES, MILE, \$200 MIN	/TON	TM	458	\$1.30	\$595.40	
R302	CEMENT PUMPER, 501-1000' 1ST 4 HE ON LOC	RS	EA	1	\$935.00	\$935.00	
					Sub Total:	\$8,493.15	
					Discount:	\$2,803.17	
					t Sub Total:	\$5,689.98	
		(T) T.	Tax Rate: xable Item	5.80%	Taxes:	\$244.08	-
		(1) 16	лине пет		Total:	\$5,934.06	

6				6) \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
	INVOICE NO.	Subject to 0	Correction	FIELD O	RDER 6554
ACID	Date 7-25-03	Lease LEONA	100	Well # #/-21	21-305-32W
SERVICES, LLC	Customer ID	County		State KANSAS	Station LIBSEAL KANSAS
Oil PRODUCES INC	of Kansas	Depth 662'	Formation		Shoe Joint 15'
	RECEIVED		Casing Depth	662'	Job Type Sulfacé Rips WELL
	CCD 2 3 200	Customer Representa	tive THOMSON	Treater	Nick Moesis

Product			X		ACCO	DUNTING
Code	QUANTITY	MATERIAL, EQUIPMENT and SERVICES USED	UNIT PRICE	AMOUNT	CORRECTION	AMOUNT
7501	275	A-Cos (common)	100 Sades	PRACT)~	175 des Ciperal	V e
)Z03_	125	60/40 POZ (COMMON)	V	CIBERAC		
C310	1098	CALOUIN CHLOUDE	/	816 1:6.	288 PRM7	
2194	92	CISUFUNES		67 1:6	25 PRATT	
R701	159	COMENT HEAD RENTAL				
-303	16A	ALLUMINUM BAFTLE PLATE	~			
-163	164	85/8 Woods Plus	-			
123	164	878 BASKET	V			
2						
=107	4100 SK	CEMENT SECURE CHARGE				
:100	Emile					
5104	458 TM	TONS / Brow MILES 25 mile				
2302	164	EA. 50/-10001 PUMP CHARGE COLE				
		Discourse Total				5689.98
		Rus TAX				

RECEIVED

TREATMENT REPORT

1201	•			F-S	E	- 01	nΩla								43				
95					KCC A	3 Z	Cus	tomer I	D					Date	7- 25-e	03			
					$^{CC}^{N}$	Ale		<u>ÖïÜ</u>	<u>Peopueses</u>	INC	of	Ks	┵.	agea No		Well #			
	V . I .			L E.			Lea	80 	LEONAN		F) 44		\bot	7-2			1 64	roto	
Field Order #	4	Station	<u> </u>	1350	L Ks				Casing g		Depth			County Has	KEL		30	Ks	
Type Job	0	uface	: <i>f</i>	Dide						Form	ation			Legal Description 21-305-32W					
PIF	E D			PE	RFORA	TINC	3 DAT	Ά	FL	UID U	SED			Т	REATME				
Casing Size	É	Tubing S	ize	Shots/l	Ft					'S SK	A-0	Cou		RATE	PRESS	ISIP			
Depth		Depth		From		То			Pre Pad	11.8	109		Mex			5 Min	•		
Volume		Volume		From		То			Pad 2.71 U.S.	ப் /	7) 'L. La	WATEL	Min			10 Mi	n.		
Max Press		Max Pres	:S			То			Frac 125 s		0/40		Avg	ADDITION OF THE PERSON OF THE		15 Mi	n.		
Well Connect	ion	Annulus '	Vol.	From		To			MIXOD	14.7	_	<i>PUL</i>	НН	O Used		Annu	lus Pre	ssure	
Plug Depth		Packer D	•	From		То			Flush 1.30 46	_	<i></i>	2 WATER	Gas	Volume		Total	Load		
Customer Re	prese	ntative	T	(C	J	<u> </u>	Statio	n Mana		. M			L	Treater	Die 1	Moceis			
Service Units		1100	7 -5	000,50	112		Z	R	38		2	106		44	76				
Time		Casing ressure		ubing essure		Pump			Rate			<u> </u>		Servi	ce Log	·			
1600		lessure				······				1		CATIC	u -	- Deillin	. @ :	517'			
											_			MENT		-	····		
1630											,	CA	-		561'				
1930										(Dea	se A	DO	HOMNAC	CISMENT	Fren	Re	97	
0030										1	Oul	Dan	iβ	pS TO 1	eud C	tsing			
0220			<u> </u>								Casi	ing O.	v ,	BOTTOM					
0235										-	Circ	CULATIO	<u> </u>	ESTABLIS	1-6 <u>0</u>				
6255	_	'50				<u></u>			6	<u> </u>	<u>S74</u>	per L	<u>540</u>	Como	m A	-Con (<u>e 11</u>	1.8 pg	
0310	1	50	<u> </u>		1-	3 <i>0</i>			6	ļ				CEMEN				@ 14.7	
0318	_	0	ļ		/	60			5	-	D	eop P	ug	- Stares	Dispu	KEMEN			
0225						184	<u>'</u>			ļ	_	_		Such					
0331	2	250			19	79			Z	-		ug Do	W	- SHUT	in He	540 - C	105	Computer	
					<u> </u>				·	 	7			10-					
										-	سلاط	uaizo		5 562 /30	SK TO F	217			
			-							<u> </u>						*****************			
											TA	ANKS	Fox	CALLING	Ació	Soei	iks.		
														-					
											عدل	ic/S	COTT	1/ MAT	1 164	-/			
			<u> </u>							<u> </u>				•					

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • Phone (620) 672-1201 • Fax (620) 672-5383



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Prett, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

Invoice

Bill to:	639590	01 <i>Invo</i>			rder Order Date 580 7/28/03
	OIL PRODUCERS INC. OF KANSAS P.O. Box 8647			Service Descrip	1
	Wichita, KS 67208 RECEIVE	L			
	FEB 2 3 20	04			
	KCC WICH		Lease Leonar		Well 1-21
AFE				ırchase Order	Terms 🖠
	T. Thomson S. Frederick	New We	:11		Net 30
<u>ID.</u>	Description	<u>UOM</u>	Quantity	<u>Unit Price</u>	<u>Price</u>
D105	AA2 (PREMIUM)	SK	100	\$13.74	\$1,374.00 (T)
D201	A-CON BLEND (COMMON)	SK	375	\$13.08	\$4,905.00 (T)
C312	GAS BLOCK	LB	118	\$5.00	\$590.00 (T)
C321	GILSONITE	LB	489	\$0.60	\$293.40 (T)
C195	FLA-322	LB	94	\$7.50	\$705.00 (T)
C243	DEFOAMER	LB	24	\$3.00	\$72.00 (T)
C221	SALT (Fine)	GAL	514	\$0.25	\$128.50 (T)
C310	CALCIUM CHLORIDE	LBS	706	\$0.75	\$529.50 (T)
C194	CELLFLAKE	LB	96	\$2.00	\$192.00 (T)
C141	CC-1, KCL SUBSTITUTE	GAL	2	\$40.00	\$80.00 (T)
C304	SUPER FLUSH II	GAL	500	\$1.85	\$925.00 (T)
F100	TURBOLIZER, 4 1/2"	EA	5	\$67.00	\$335 00 (T)
F120	BASKET, 4 1/2"	EA	2	\$180.00	\$360.00 (T)
F170	LATCH DOWN PLUG & BAFFLE, 4 1/2"	EA	1	\$230.00	\$230.00 (T)
F210	AUTO FILL FLOAT SHOE, 4 1/2'	EA	1	\$250.00	\$250.00 (T)
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
E107	CEMENT SERVICE CHARGE	SK	475	\$1.50	\$712.50
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	25	\$3.25	\$81.25
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	559	\$1.30	\$726.70
R206	CASING CEMENT PUMPER, 2501-3000' 1ST 4 HRS ON LOC	EA	1	\$1,533.00	\$1,533.00
				Sub Total:	\$14,272.85
				Discount:	\$4,830.86
			Discount	t Sub Total:	\$9,441.99
		Tax Rate:	5.80%	Taxes:	\$420.89
	(T) 1	Taxable Item		Total:	\$9,862.88

		INVOICE NO.	Subjec	t to Correction		FIELD O	RDER	6580
		Date 7-28-0	3 Lease LEON	ARN	\	Vell #/- Z/	Legal 7 1 - 3	305-32W
SER	VICES,	Customer ID	County		5	State & S	Station	
92			Depth Depth	Formation	1	7 7	Shoe Joint	AL
Ç	91 1201	DUCERS INC of K	Casina	Casing Depth	TD		Job Type	
A			Customer Repres	2806	<u>, </u>		416	L.5 NEW
G E			Customer Repress	THOM SO A	J	Treater Sha	iun FREI	ERICH
					,		//	
AFE Number		PO Number	Materials Received by	X			020	
Product	- CULTURAL TOPO	AMATERIAL FOLURACITA		LINIT PRIOR				DUNTING
Code	QUANTITY	MATERIAL, EQUIPMENT at		PLATT)	AMOL	JNT C	ORRECTION	AMOUNT
D105	1005K	AAZ PREMIUM		(LEAN)	1			
D201	375sk	A-CON Blend (CommoN)			7	(R	ECEIVED
<u>C312</u>	11816	100 01.10		(PRATI)			5 m	- SLIVED
C321	48916	GAS Blon		(PRATI)	-		FE	B 2 3 2004
	94/6	FLA-322		(Pearl)			KCO	WICHITA
<u> 2195</u>	2416			(PRATT)	V			THOMIA
CZ43	1 .	Deformer		(PRATT)	V			
	51416	SAUT (Fine)		(Clean)	V			(
C310	706 16 96 16	CALCIUM CHLO	2108		1		·	
C194	1415	CELLFIGHE						
C141	2 1	1 1 1			V			
	2ga/	CC-I			 		· · · · · · · · · · · · · · · · · · ·	
C304	500 501	Super FLUSH !!			/			
F100	5eq	TURBOLIZER 41/2			<u> </u>			4 , 4
FIZO	Deg	BASKET 41/2	- 411		V			12:-
F120	les	LATCH DOWN Plu	5 + BAFFIE 7/2		V			
F210	lea	AUTO FILL Float	Shoe 472		1			
				-1	<u> </u>			
					<u> </u>			
<u> </u>								
Riol	lea	CEMENT HEAD 2	1	**************************************				
E107	42554	CMT SERVICE						
E100	25 mi	UNITS MILES	Iway					***************************************
E104	5597m	TONS 22 MILES						
₹ 204	lea	EA. 4 hrs PUMP	CHARGE					
		Discounted	TOTAL					9,441,99
		PL PL	US TAK	***************************************				
10244 NE H	iway 61 · P.O.	. Box 8613 · Pratt, KS 6712	4-8613 - Phone (620) 672-1201 · F	ax (620) 67	2-5383 тота	AL.	

TREATMENT REPORT

						Customer				- 1		7-28-03				
SER	VICES					Lease		Duce			+	ease No.		Well #	 Z /	
Field Order	Statio	n	_العالمي	_			Casing ,	z	Depth	252-1	+	County State				
7ype Job	A. 4			Eenl		Casing 1/2 Depth 2806										
	***************************************	S	T	وس س RFORA			T ==	UID U	een				REATMEN	~30s - 3		
	PE DATA	Size	Shots/F		IIIVG	DATA	Acid				ļ	RATE	PRESS	ISIP		
Casing Size	Depth						375 s	sk i	4-C	9.V	Max	OM-17-11-11-11-11-11-11-11-11-11-11-11-11-		5 Min.		
220	(a)		From		То		100 S	k AA-Z								
Volume_	Volume		From		То		Super	flus	4 II		Min			10 Min.		
Max Press /500	Max Pre	88	From		То		Frac				Avg			15 Min.		
Weil Connec	tion Annulus	Vol.	From		То						HHF) Used		Annulus	Pressure	
Plug Depth	Packer [Packer Depth		To		Flush TI	LAT	LD F	40	Gas	Volume		Total Lo	ad	-	
Customer Re	epresentative	THO	mson	J	S	tation Mana			hre	i.S		Treater 5	haun H	FREDER	2164	, RANKS
Service Units				108) ,	J 3	38	7,		44		77_				
Time	Casing Pressure		ubing essure		Pumped		Rate				*************	Service	e Log			*******
1700								01	lo	CATI	ıΝ	/ Ric	Cir-			
1705						RECE	IVED					ETY 1		1/6		
1710							3 2004	RI	6	UP	21					
1800						FED 6		7	1800	····· /	C	-/ Pu	7// Î), P.	· · · · · · · · · · · · · · · · · · ·	
2100					K	CC W	ICHIIA	D.1	_	OST	oF	· · · · · · · · · · · · · · · · · · ·			CASERS	
2130								514	RT	IN	W	LASing	- K	E.		
2300								CAS	179	oN	B	OTTOM/	Hook	UP P.	c, '	
2305					-			Bu	ZEAK	. Gir		V/ R:6				
2340					,			TH	2000	in Ein		- Hooh 1	ines To	1 27		
2345				4	•		2	_				lole				******
2352	250			17	<u> </u>	4	1	Pu	/ no	12	BI	B/s W	ATER			
2355	300			12		Ž	1	Pur	ממ	<i>5</i> 2	9	a/ Sc	iper f	1454 I	Z.	
6000	300			17		4	<i>‡</i>	Pun	n 1	12 /	BL	S WAT	ER			
0003	350			183		5						SAS A-		11.75	t .	
0050	175			44	,	5	5					KS AH				- Pi
0/00								54	1	Mar	y /	WASH In	es To Pi	T/De	p Plug	
0/07	100			44,	5_	5		12	ma	Dis	0					
0/23	teóo				_	2	•			RAT						
0128	1					7				PLU					· · · · · · · · · · · · · · · · · · ·	
0129												iat	HEL	<u>გ</u>		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
0130												e72				
500	44 NE Hiv	vay (61 • P.	O. Box	861	3 • Prat	t. KS 6712						1 • Fax	(620) 67	2-5383	



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (316) 672-1201 (316) 672-5383 FAX

ACIDIZING - FRACTURING - CEMENTING

Invoice

Bill to:	* 		· · · · · · · · · · · · · · · · · · ·	6395901	Invoid				Order Date
 	P.O.	PRODUCERS INC. Of Box 8647 hita, KS 67208	F KANSAS RECEI	/ED	30805 Cement	i	2.1/03 Service Descr	6587 iption	8/8/03
		, 125 0 7 200	FEB 2 3						
			KCC WI	CHITA		Lease			Vell. -21
Al	r e	CustomerRep	Treate	r			urchase Orde	Te Te	erms
		T. Thomson	S. Frederick		New Wel			Ne	et 30
<u>[[},</u>	Desc	cription		\underline{U}	<u>OM</u>	Quantity	<u>Unit Price</u>	<u>P1</u>	<u>ice</u>
D200	CON	MMON		SI	K	. 150	\$10.39	\$1,558.5	50 (T)
C310	CAL	CIUM CHLORIDE		L	BS	172	\$0.75	\$129.6	(T) 00
E107	CEM	MENT SERVICE CHAI	RGE	SI	Κ	150	\$1.50	\$225.0)0
E100	HEA	VY VEHICLE MILEA	GE - 1 WAY	M	I	25	\$3.25	\$81,	25
E104		PPANT / BULK DELI E, \$200 MIN	V SERVICES/T	ON I	М	166	\$1.30	\$215.3	30
R306		MENT PUMPER, 2501- LOC	3000' 1ST 4 HR	S E	4	1	\$1,512.00	\$1,512.0)()
							Sub Total:	\$3,721.5	55
							Discount:	\$930.1	14
						Discoun	Sub Total:	\$2,791.4	1 1
					Tax Rate:	5.80%	Taxes:	\$73.4	¥1
				(T) Taxo	ible Item		Total:	\$2,864.8	32

	Ţ		INVOICE NO.		Subject	to Correction		FIELD C	RDER	6587
			Date 8-0	Lease	LEONY			Well # /~21	Legal 21	305-32W
SER	VICES		Customer ID	County	•			State	Station	
			L	Denth	ASK E	Formation	0	. /	Shoe Joint	ERAL
c	DIL KKOJ	vcers	of KANS		715	Casing Depth		D D	Job Type	.10.1
A R				Custom	'/z ner Represe	ntative		Treater	Squee	re well
G E						Homson		1100101	Shawn FR	re well EDERICA
AFE Number	T	PO Nu	mber	Materia Receive		(Q. //	Power	N		
Product Code	QUANTITY	MATE	RIAL, EQUIPMENT	and SERVICES I	USED	UNIT PRICE		OUNT	ACC CORRECTION	OUNTING AMOUNT
Droo	150sm		no N			V				
C310	17216	CALC	ium CHL	30,50		1				
			R	ECEIVE						
				EB 2 3 200	14	7				
				CWICH		~				
		<u> </u>					<u> </u>			
		ļ								
-							·			
				·····		· · · · · · · · · · · · · · · · · · ·	<u> </u>			
									· · · · · · · · · · · · · · · · · · ·	
	1									
	<u> </u>									
** · · · · · · · · · · · · · · · · · ·									7	
										
						· · · · · · · · · · · · · · · · · · ·				

E107	150 su	ConT	SERVICE	Charge						
E100	25mi	UNITS (ES lucy						
EWY	NeleTM		7 MIL	ES 25						
2306	1 ea		lhrs pur	MP CHARGE						
*****	<u> </u>									
	<u> </u>		Disco		ML				**************************************	2791.41
			9	LUS TA	*					•
10244 NE-L	liwey C1 - P.A	Day 054	2 Duell VO.CT	104 0C40 - DI	one (600)	C70 4004	/000	C-0 5000		
TUZ44 NE F	Tiway of P.U.	DUX QD [3 - Pratt, KS 67	124-0013 - PN	une (620	0/2-12U1 - F	ax (620)	0/2-5383 TO	ΓAL	

DECENED

ORIGINAL TREATMENT REPORT

 REUL
FEB 2 3 2004
CC WIC HIPPAROT ID

	Customer Customer								Date							
	Customer OIL PRODUCERS OF KANSOS								8-8-03							
SERVICES LLC				Leas	9 .	EONARI				Lease No.		Well# /- 21				
Field Order		tion	La	CBER	<u> </u>			Coning	'/2 Depth	15	T	County HAS	4011		State HS	
Time lab	Squeez	, ,		well	let ben		*****			Sinfi	راه		Legal Descri	ption 21-305		
PI	PE DATA		PE	RFORA	TINC	G DATA	\	F	LUID USED				REATMENT			
Casing Size	Tubing	Tubing Size		Shots/Ft				Acid M SH Carrena		لده.	RATE PRESS		ISIP			
Depth 2789	Depth			From 27/5		то 2725		10054 Com		<u>د</u>	Max 🗸		1500	5 Min.		
Volume 4,3	lume Volume		From	1		To		50 Sh Common		1	Mir		Ø	10 Min.		
Max Press	Max Pr	Max Press		1				Frac		non	Avg		1500	15 Min.		
Well Connec		Annulus Vol.		From		To					HHP Used		7000	Annulus Pressure		
Plug Depth	Packer		From	I A CONTRACTOR OF THE CONTRACT		То		Flush (ATER		Gas Volume			Total Load		
Customer Re	enresentative	<u>271(</u>			<u> </u>	Station Manag		ner =			Treater 51			UN FREDERICA		
		11M	1 10	23		108		38	T T	15		υ - Ο <i>γ</i>	laun)-	-REDERI	<i>CA</i>	
Service Units	Casing		ubing	Bbls.	Pumn			Rate	72	<u> </u>		Si-	-1			
	Pressure	Pre	essure	55.6.		-		11410	ON L			Servic	e rog		****	
<u>0930</u> 0934										SCATI						
		+							1 _			IY MES	TING			
1115	500	 		2-		/	3		Rice U	<u> </u>	\Box					
//20			${a}$		/_	/ -		4	LOAD BACKSIDE TO SOO PSI							
1/36		50			16				Insection TEST							
1140		<u> </u>			2,5		3. 5		Pump 100 SAS Common 926 CC @ 15.6#							
1145	<u> </u>	50-				- -		-3 Pump		100	3 2	sus lan	mon To	16 CC C	2/5267	
		190						$\frac{Ohut}{O}$		Doce	210					
1146		900		10				I GMO PI		Disp	1500/shut Down					
1149		1500											17 Lo	wa)		
1150		100	-/500					3	Contin							
1206		+					3	>	Shot	<u></u>	<u>م در</u>	<u>) </u>		***************************************		
1204	500	5		20)	_	_	>	Revers	205		Je				
12/1		 						i	ShuT	_ <u>`</u> \`	<i>رُكِب</i>	y wash	Lines	to Pr		
1300		 							JOR	Com	ple	te			··········	
				1817		_							- · · · · · · · · · · · · · · · · · · ·			
		-			· · · · · · · ·											
		 														
		<u> </u>								······································	····				M	

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • Phone (620) 672-1201 • Fax (620) 672-5383

RECEIVED

LEONARD #1-21 1

ORIGINAL

FEB 2 3 2004

KCC WICHITA

OIL PRODUCERS, INC. OF KANSAS INITIAL COMPLETION REPORT

WELL - LEONARD #1-21

LEGAL - C-S/2 of SEC. 21-30s-32w in HASKELL CO., KS

API# - 15-081-21489

G.L. - 2874'

K.B. - 5' ABOVE G.L. @ 2879'

SURFACE CSN - 8 5/8" @ 646' w/ 275 SXS A-CON, 125 SXS 60/40 POZ.

RTD - 2800'

LTD - 2804'

PRODUCTION CSN - 41/2" 10.5# NEW R-3 @ 2803' w/ 375 SXS A-CON, 100 SXS AA-2

TOP OF CEMENT - SURFACE W/ EXCELLENT BONDING ACROSS PAY INTERVALS

PBTD - 2789' (ELI 8/7/03) 2711' (CEMENT RETAINER 8/8/03)

PERFORATIONS -

WINFIELD -

2715-2725'

2/FT

LOWER KRIDER -

2688-2692'

2/FT

LOWER KRIDER -UPPER KRIDER -

2668-2678' 2637-2644' 2/FT 2/FT

COMPLETION DATE -

TUBING RAN - M.A. S.N. 85 JTS 2 3/8" (2663.20') 10', 6' x 2 3/8" SUBS

TUBING SET @ - 2697.30'

AVERAGE TBG JT. - 31.33'

PUMP RAN - 2 x 1½ x 12' RWB HOLLOW PULL ROD w/ 6' G.A.

RODS RAN - PUMP 2' x 3/4" 106 3/4" 4' x 3/4" P.R. & LINER

PUMP SET @ - 2682'

PUMPING UNIT - AMERICAN D80G SER. #D80G-938, GEAR RATIO 29.93 TO 1, 48" STROKE

PRIME MOVER - C-66

SURFACE EQUIPMENT - 24" x 5' 125# VERTICAL GAS SEPARATOR 6' x 16' 210 BBL CLOSED TOP FIBERGLASS WATER TANK

LEONARD #1-21 2

FEB 2 3 2004

ORIGINAL

8/07/03 -

KCC WICHITA

COMANCHE WELL SERVICE ON LOCATION TO RIG UP D-D DERRICK.

ELI ON LOCATION TO RUN CORRELATION & SONIC CEMENT BOND LOG.

FOUND TTL DEPTH - 2789'

FOUND TOP OF CEMENT - AT SURFACE w/ EXCELLENT BONDING ACROSS PAY INTERVALS.

COMANCHE RIGGED TO 41/2". SWAB CSN. SWAB CSN DOWN TO 2300' FROM SURFACE.

ELI WIRELINE ON LOCATION TO PERFORATE PROPOSED PAY INTERVAL IN WINFIELD FORMATIONS UTILIZING 32 GRAM EXPENDABLE CSN GUN. PERFORATE WINFIELD - 2715-2725' 2/FT.

COMANCHE SWABBED WELL DOWN TO TTL DEPTH. 1/2 HR NATURAL TEST WINFIELD.

ACID SERVICE ON LOCATION TO ACID STIMULATE WINFIELD PERFORATIONS w/ 500 GALS 15% DSFE ACID.

ACIDIZE WINFIELD PERFORATIONS AS FOLLOWS:

PUMP 500 GALS 15% DSFE ACID. LOAD HOLE w/ 31 BBLS, 2% KCL WATER PRESSURE TO 1400#, BROKE BACK QUICKLY DISPLACE ACID AT 3 BPM - 100# ISIP - VACUUM TTL LOAD = 54 BBLS

COMANCHE RIGGED TO SWAB TEST WINFIELD PERFS AFTER ACID STIMULATIONS.

SWAB TEST WINFIELD PERFORATIONS AFTER ACID AS FOLLOWS:

SWAB WELL DOWN TO TTL DEPTH, RECOVERED 30 BBLS

1/2 HR SWAB TEST - RECOVERED 3.00 BBLS TEST GAS @ SLIGHT SHOW

1/2 HR SWAB TEST - RECOVERED 0 BBLS TEST GAS @ 6 MCF

1 HR SWAB TEST - RECOVERED 2.40 BBLS TEST GAS @ 9 MCF

SHUT WELL IN. SHUT DOWN FOR NIGHT.

8/08/03 -

SICP - 10.5# w/ 50' OF FLUID IN HOLE.
SIBHP - CALCULATES 137#
COMANCHE WELL SERVICE ON LOCATION. SWAB CSN DOWN TO TTL DEPTH.
WILL CONDEM WINFIELD ZONE DUE TO NOT HAVING COMMERCIAL GAS SUPPLY AND POSSIBLY CAUSING FRAC TO OPEN UP ZONE TO SALT WATER.

T.R. SERVICE ON LOCATION w/ 4½" CEMENT RETAINER. ELI WIRE-LINE ON LOCATION TO SET 4½" CEMENT RETAINER.

SET CEMENT RETAINER @ - 2711'

8/08/03 CONTINUED -

SIOUX TANK WINCH TRUCK ON LOCATION. UNLOAD 2775' OF USED TESTED 2 3/8" TUBING FROM OPIK YARD GREAT BEND.

RECEIVED

RIH - w/ CEMENT RETAINER AND 2 3/8" TUBING, STING INTO RETAINER AT 2711'.

FEB 2 3 2004

ACID SERVICES ON LOCATION TO SQUEEZE WINFIELD PERFS w/ 150 SXS COMMON KCC WICHITA CEMENT.

SQUEEZE WINFIELD PERFORATIONS AS FOLLOWS:

LOAD ANNULUS & PRESSURE TO 500#, HELD OKAY
ESTABLISH INJECTION RATE VIA TBG @ 4 BPM - 600#
MIX & PUMP 150 SXS COMMON CEMENT
DISPLACE 130 SXS INTO PERFS AT 3 BPM - VAC TO 1500#
NOTE: OBSERVE RUNNING SQUEEZE HOLDING 1000#
PULL OUT OF STINGER, REVERSE, CIRCULATE HOLE CLEAN
POOH - w/ TUBING & STINGER

SHUT DOWN FOR WEEKEND.

8/11/03 -

COMANCHE WELL SERVICE ON LOCATION. RIG TO SWAB 4½" CSN. SWAB CSN DOWN TO 2300' FROM SURFACE.

ELI-WIRELINE ON LOCATION TO PERFORATE ALL PAY INTERVALS IN UPPER AND LOWER KRIDER FORMATION UTILIZING 32 GRAM EXPENDABLE CSN GUNS. FOUND TTL DEPTH @ - 2710'

<u>PERFORATE</u> - LOWER KRIDER - 2688-2692' 2/FT LOWER KRIDER - 2668-2678' 2/FT

UPPER KRIDER - 2637-2644' 2/FT

COMANCHE WELL SERVICE SWAB 4½" CSN DOWN TO TTL DEPTH. ½ HR NATURAL SWAB TEST - RECOVERED

ACID SERVICE ON LOCATION TO ACID STIMULATE ALL UPPER AND LOWER KRIDER w/ 1500 15% DSFE ACID w/ 65 BALL SEALERS SPACED OUT EQUALLY.

ACIDIZE UPPER AND LOWER PERFORATIONS AS FOLLOWS:

PUMP 500 GALS 15% DSFE ACID
PUMP 1,000 GALS 15% DSFE ACID w/ 65 BALL SEALERS SPACED EQUALLY
PRESSURE TO 700#, BROKE BACK QUICKLY
DISPLACE 500 GALS ACID @ 6 BPM - 250#
DISPLACE 1,000 GALS 15% DSFE ACID w/ BALLS @ 6 BPM - 200# TO 1500# BALLED OFF
DISPLACE REST OF ACID - 3 BPM - VAC

ISIP - VACUUM
TTL LOAD = 78 BBLS

COMANCHE WELL SERVICE RIGGED TO SWAB TEST UPPER AND LOWER KRIDER PERFS AFTER ACID.

8/11/03 CONTINUED -

SWAB TEST LOWER AND UPPER KRIDER PERFORATIONS AS FOLLOWS:

RECEIVED

FEB 2 3 2004

KCC WICHITA

SWAB CSN DOWN TO TTL DEPTH. RECOVERED 48 BBLS.

1/2 HR SWAB TEST - RECOVERED 4.17 BBLS

1/2 HR SWAB TEST - RECOVERED 0.83 BBLS

TEST GAS @ 10 MCF

TEST GAS @ 10 MCF

TEST GAS @ 12 MCF

1/2 HR SWAB TEST - RECOVERED 0.41 BBLS 1 HR SWAB TEST - RECOVERED 1.67 BBLS TEST GAS @ 20 MCF

1 HR SWAB TEST - RECOVERED 0.83 BBLS TEST GAS @ 41 MCF

1 HR SWAB TEST - RECOVERED 0.83 BBLS TEST GAS @ 45 MCF

SHUT WELL IN. SHUT DOWN FOR NIGHT.

8/12/03 -

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURES.

SICP - 220# w/ NO FLUID IN HOLE

SIBHP - CALCULATES 239#

ACID SERVICE AND CUDD PRESSURE CONTROL ON LOCATION TO FRACTURE STIMULATE ALL UPPER AND LOWER KRIDER PERFS w/ 22,000 GALS 70% NITROGEN FOAM AND 31,000# 12/20 BRADY SAND, TAILING IN w/ 4,000# RESONATED AC-FRAC SAND TO MINIMIZE SAND PRODUCTION.

FRACTURE UPPER AND LOWER KRIDER PERFORATIONS AS FOLLOWS:

PUMP 7,000 GALS, 70% N2 FOAM PAD, EST. INJ. RATE @ 17 BPM - 1,000# PUMP 4,000# 12/20 SAND @ 1 PPG (4,000 GALS N2 FOAM) @ 17 BPM - 1,200# PUMP 12,000# 12/20 SAND @ 2 PPG (6,000 GALS N2 FOAM) @ 17 BPM - 1,150# PUMP 11,001# 12/20 SAND @ 3 PPG (3,667 GALS N2 FOAM) @ 17 BPM - 1,150# PUMP 3,999# AC-FRAC SAND @ 3 PPG (1,333 GALS N2 FOAM) @ 17 BPM - 1,200# FLUSH SAND TO PERFS w/ 1800 GALS N2 FOAM @ 17 BPM - 1.200# ISIP - 1075#

TTL LIQUID LOAD TO RECOVER - 181 BBLS

SHUT WELL IN FOR 24 HRS. SHUT DOWN.

8/13/03 -

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURE ON CSN. SICP - 180#

OPEN WELL TO PIT, WELL KICKED OFF FLOWING, FLOWED TO PIT FOR 3 HRS.

RECOVERED 29 BBLS.

COMANCHE RIGGED TO SWAB CSN DOWN TO RECOVER FRAC LOAD. SWABBED CONTINUOUS REST OF DAY, RECOVERED 77 BBLS.

THIS IS A TOTAL OF 107 BBLS FOR THE DAY WITH GOOD SHOW OF GAS.

SHUT WELL IN. SHUT DOWN FOR NIGHT.

8/14/03 -

COMANCHE ON LOCATION TO CHECK PRESSURE ON CSN.

SICP - 220# w/ 300' OF FLUID IN HOLE

SIBHP - CALCULATES 380#

8/14/03 CONTINUED -

ORIGINAL

RECEIVED

COMANCHE RIGGED TO SWAB TEST UPPER AND LOWER KRIDER PERFS AFTER FRAC.

SWAB TEST UPPER AND KRIDER PERFORATIONS AS FOLLOWS:

CONTINUOUS SWAB FOR 31/2 HRS, RECOVERED 71.80 BBLS w/ 106 BBLS SWABBED BACK YESTERDAY. THIS IS A TOTAL OF 177 BBLS OF 181 BBL FRAC LOAD. START 1/2 HR TEST SWABS.

½ HR SWAB TEST -	RECOVERED 1.67 BBLS	TEST GAS @ 168 MCF	RECEIVED
½ HR SWAB TEST -	RECOVERED 3.34 BBLS	TEST GAS @ 173 MCF	
½ HR SWAB TEST -	RECOVERED 3.34 BBLS	TEST GAS @ 168 MCF	FEB 2 3 2004
½ HR SWAB TEST -	RECOVERED 3.34 BBLS	TEST GAS @ 161 MCF	9
1 HR SWAB TEST -	RECOVERED 2.92 BBLS	TEST GAS @ 168 MCF	KCC WICHITA
1 HR SWAB TEST -	RECOVERED 3.75 BBLS	TEST GAS @ 150 MCF	
1 HR SWAB TEST -	RECOVERED 3.34 BBLS	TEST GAS @ 136 MCF	
1 HR SWAB TEST -	RECOVERED 3.34 BBLS	TEST GAS @ 134 MCF	

RUN SWAB STEM. CHECK SAND FILL-UP. HAVE APPROX. 30' OF SAND IN CSN.

SHUT WELL IN. SHUT DOWN FOR NIGHT.

8/15/03 -

COMANCHE WELL SERVICE ON LOCATION TO CHECK PRESSURE ON CSN. SICP - 205# COMANCHE RIGGED TO RUN TUBING IN FOR PRODUCTION.

RUN PRODUCTION TUBING AS FOLLOWS:

MUD ANCHOR x 2 3/8"	15.00'
SEATING NIPPLE x 2 3/8"	1.10'
85 JTS 2 3/8" TUBING	2663.20'
6', 10' x 2 3/8" TUBING SUBS	16.00'
K.B. (5' < 3')	2.00'
TUBING SET @	2697.30
SEATING NIPPLE SET @	2682.30'

TAG TTL DEPTH w/ TUBING @ 2711', PICK UP AND LAND TUBING 13' OFF BOTTOM.

SIOUX TANK WINCH TRUCK ON LOCATION w/ USED 3/4" RODS AND BOTTOM HOLE PUMP.

COMANCHE RIGGED TO RUN BOTTOM HOLE PUMP AND RODS.

RUN BOTTOM HOLE PUMP AND RODS AS FOLLOWS:

2 x 1½ x 12' RWB HOLLOW PULL ROD PUMP	14.00'
2' x 3/4" ROD SUBS	2.00'
106 USED ¾" RODS	2650.00'
4' x ¾" ROD SUB	4.00'
1¼" POLISHED ROD & 7' LINER	16.00'
PUMP SET @	2682.00'

8/18/03 CONTINUED -

SPACED OUT RODS. LONG-STROKED HAD GOOD PUMP ACTION. CLAMPED RODS OFF.

COMANCHE RIGGED DOWN, MOVED OFF LOCATION.

8/18/03 to 8/20/03 -

SIOUX TANK WINCH TRUCK AND GABLE LEASE SERVICE ON LOCATION TO BUILD PUMPING UNIT PAD AND SET PUMPING UNIT MODEL D80G AMERICAN SERIAL #D80G-938 w/ GEAR RATIO OF 29.93 TO 1 AND 48" STROKE.

RECEIVED FEB 2 3 2004

SHAWNEE ROUSTABOUT SERVICE AND SIOUX TANK WINCH TRUCK ON LOCATION. KCC WICHTA SIOUX SET 6' x 16' 210 BBL CLOSED TOP FIBERGLASS TANK.

SHAWNEE PLUMBED IN WELL HEAD TO 24" X 5' VERTICAL 125# GAS SEPARATOR. ALSO DITCHED AND LAID 1300' OF 2" SCH 40 PVC WATER-LINE DUE SOUTH TO EDGE OF CO. ROAD AND TIE INTO WATER TANK.

AT THIS TIME, WE ARE WAITING ON GARY MEIR TO PERFORM GAS TESTS ON WELL TO GET BEST CONTRACT w/ BP OR ONEOK.

END OF REPORT TIM THOMSON